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YPES OF ANGLES: Sketch:

1.Acute: Acute angles have measures
between 0° and 90°. L

2.Right: A right angle has measure equal
to 90°. L\“

3.0btuse: Obtuse angles have measures

between 90° and 180°. \/
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SPECIAL PAIRS OF ANGLES:
1.Complementary Angles: Pair of angles
whose sum of measures equals 90°.

40° and 50° angles are complementary
angles because 40° + 50° = 90°.

Dec 20-9:11 AM

Example: A 40° angle is called the
complement of the 50° angle.

Similarly, the 50° angle is the complement
of the 40° angle.
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Practice: Find the complement of each
angle.

a) 35°  b)48° c)12°

5y Y n

Dec 20-9:13 AM

P.Supplementary Angle: Pair of angles
whose sum of measures equals 180°.

60° and 120° angles are supplementary
angles because 60° + 120° = 180°.

Dec 20-9:14 AM

Example: A 60° angle is called the
supplement of the 120° angle.

Similarly, the 120° angle is the supplement
of the 60° angle.

Dec 20-9:14 AM
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Practice: Find the supplement of each angle.

a) 40°.  b) 126° C) 72
10 5¢° (08

Dec 20-9:15 AM

Can you think of a way to remember the
difference between complementary and
supplementary angles?

C S
0 \30
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3. Angle Bisector: A ray (or line or segment)

that divides an angle into two congruent

angles (two angles with equal measure).

== .
BE is an angle bisector

2ABE = ¢EBC so mZABE = m/ZEBC

Dec 20-9:17 AM
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Practice:

1.Can Tv}/\loosupplemen’r ry angles both be
obtuse angles? Acute angles2 Why?

wa| £ 1920 o AL L

2.Can two supplementary angles both be
right anglesez Why?

\,&,6 “0190=\30°
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3.Refer to the diagram to answer each.

BEis an angle bisector.

a) If mOABE = 40°, find mOEBC. Y
b) If MOABC = 70°, find mOABE. XS

Dec 20-9:20 AM

4. /land /2 ore@p@ Solve for

x and the measure of both angles.
/1=5x+2-5(0R G
L2224 aR)r -G8

OIS0

Iy =90
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5./1and Z2are complementarys Solve for x

ond the measure of both angles. ,
£1402e3 O 12(1) 1] =53
229 s D () ra = 28
@@@@?O@
2 =90
s
[x-
RN
X= Y
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6.0ne of twocompl tary anglesis 16
reeqless thanlits complement. Find the
measure of both angles.

2= X1 G
X=? LA X :

A~ O tﬂ@
Y|V, =
SR

%§:@§\x13°
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7.0ne of Two@ongles is 36°

eater than its complement. Find the
measure of both angles. B ﬂQ

J| = X3k
=X

Dec 20-9:28 AM
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8.0ne of Two@le_mg@ongles is 57°

greater than twice its complement. Find

the measure of both angles.

i] RXT57 1L57

SR am@

Xt Tﬁ%%

5)<T3%

5

X=1|
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9.0ne of twogupplementaryxangles is 28°
r than its supplement. Find the

measure of both angles. < | 30

- Msémx

22=X =\l

Lx+A3= 130
-4 g
ARIEE

Dec 20-9:29 AM

10. One of two/supplementa ngles is 123°
less than twice its supplement. Find the

measure of both angles.

- QAx- 133
<= X

SPTNERS e

Dec 20-9:29 AM
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